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1.  Determine the equation of the line that passes through
o =
lgD %_ v %) a} pomt (——;—,7) and is parallel to the line whose equationis —x-7=0.
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- b) point (—2,%) and 1s parallel o the line whose eguation is —Zy+ 7=0.
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¢) point [—%,3) and is parallel to the line whose equationis —7x-11=0.

Clearly show all your work.
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d) point (— 3%] and is parallel to the line whose equation is — §y+ 4=0,.
Clearly show all vour work.
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e} pomt (— %,6) and is parallel to the line whose equationis —2x—-4=0.

Clearly show all your work.
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f) point (— 4,—3—] and 1s parallel to the line whose equation is — %y-i- 6=0.

Clearly show all your work.
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g point (— é,z) and 1s parallel to the line whose equationis - 3x—7=0.

Clearly show all your work.
-5¢ -1 =0
-3¢ =]
—3 -3
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h) point (—32— —;—) and is parallel to the line whose equation is — %y +10=0.
Clearly show all your work.




1) pomt (—%,—2] and is parallel to the line whose equationis -8x-16=0.

Clearly show all your work.

-—Yx —\(=0

-fg)L = 1b
- =3

1) pomt (— %,— %} and 1s parallel to the line whose equation is ——;— y+14=0.

Clearly show all your work.
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Multiple choice: Choose the correct answer.

2. Which of the following lines is concurrent with 1;: 2 2y= 5 1n its intercept?
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2. = T
0) 2y+5=0
d) Sy—-2x=25

3. Which of the following lines is concurrent with I;: 5y = -10 in its mtercept?
T s

a} —le+5y—I:0 %;’}_
b) 5y+10=0

c} 2y—-x=1

-x+5y~10=0
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4.  Which of the following lines is concurrent with I;: y = g— in its intercept?
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5. Which of the following lines is concurrent with 1,: 2y =6 in its intercept?
=
-2x+y-3=0 =33
Yy = 2y ¥3 %
-3x+y-1=0
2y+6=0
y=3x

d)



6.  Which of the following lines is concurrent with 1;: 3y =12 in its intercept?
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a) 3y+12=£)
c) y—4x=1
d) x—4=0

7. Which of the following lines is concurrent with 1;: 2y =10 in its intercept?
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8.  Determine what line is concurrent with I, — ix 4 in point (-3,-3)?

o (R %)

b) y—x+6=0 = -« WM\C“'Q e Wm%
(_1/[ Pomb we y-values

0 3y-2x-15=0 d) X=-2 (—5 7)
-'sy-_i?j:) =
-2+l = 3

9. Determine what line is concusrent with I;: - %x =9 in point (- 4,-2)?

7
o dy—x+4=0

Y2)44 ¢ = O

¥ +€=0
b) y=-4x-12
c) 2y-3x+2=0

d) 4y—-3x-20=0



. L . 7 . :
10. Determine what line is concurrent with I;: - 3% 7 in point (- 5,~3)?

a) 3y-2x+9=90
b) 2x-2y=-16
-0 + 06
@ —4dx+5y-5=0
4(-5)x5(-3) -5 =0
W -\
d) y=-5x-3

11. Determine what line is concurrent with 1;: — -g-x =5 in point (- 2,3)?

A+t =
b) 3y—2x+12=90
c) 2y—3x=0

d) -2x+3y=10



12.  Determine what line is concurrent with 1;: —%lel in point (- 6,4)?

a) 3x+4y+12=0
~8 416
5x+6y+6=0
"0 2 M 1l =
c) 3y—2x=0
d) ~6x+4y =10

13. Determine what line is concurrent with 1;: — g—x =8 in point (- 7,-2)?

a) -2x-5y=4

“2-N-5(-2) =
Y A+ 10
b) -x-2y=3
1-2(-7) =
74N
c) 2y-5x+4=0
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